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M. Sc. (Home Science) (Fourth Semester) 

(Main/ATKT) 

EXAMINATION, May-June, 2021 

HUMAN DEVELOPMENT 

Paper XV 

(Study of Family in Society) 

Time : Three Hours ]  [ Maximum Marks : 80 

uksV % funsZ’kkuqlkj lHkh [k.Mksa ds mŸkj nhft,A 

 Attempt all Sections as directed. 

 [k.M&v izR;sd 1  

(Section—A) 

oLrqfu”B@cgqfodYih; iz’u 

(Objective/Multiple Choice Questions) 

uksV % lHkh iz’uksa ds mŸkj nhft,A 

 Attempt all questions. 

lgh mŸkj dk p;u dhft, % 

Choose the correct answer : 

1- ifjokj lekt dh 
----------------------

 bdkbZ gSA 

Family is a ............... part of society. 
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2- tSfodh; mRiknu djuk ifjokj dk % 

¼v½ izFke dk;Z gS 

¼c½ vk/kkjHkwr dk;Z gS 

¼l½ vko’;d ugha gS 

¼n½ mi;qZDr lHkh 

Biological production of family is : 

(a) First work 

(b) Biological function 

(c) Not necessary 

(d) All of the above 

3- if’pehdj.k ifjokj esa ifjorZu dk dkj.k gSA 

¼v½ lR; 

¼c½ vlR; 

Westernization is a cause of change of family. 

(a) True 

(b) False 

4- ^ifjokj* ‘kCn dh mRifŸk ySfVu Hkk”kk ds ‘kCn % 

¼v½ QSfeyh ls gqbZ gS 

¼c½ QSfeykbZ ls gqbZ gS 

¼l½ QSeqYkl ls gqbZ gS 

¼n½ mi;qZDr lHkh 
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Word „family‟ from originated Latin word from : 

(a) Family 

(b) Familai 

(c) Famulus 

(d) All of the above 

5- ,dkdh ifjokj esa gksrs gSa % 

¼v½ ifr&iRuh vkSj cPps 

¼c½ ,d ls vf/kd ihf<+;k¡ 

¼l½ nknk&nknh 

¼n½ mi;qZDr esa ls dksbZ ugha 

In nuclear family there are : 

(a) Husband-wife and child 

(b) More than one generation 

(c) Grandfather and Grandmother 

(d) None of the above 

6- ,dkdh ifjokj dk izeq[k ykHk gS % 

¼v½ ‘kkjhfjd ykHk 

¼c½ vkfFkZd ykHk 

¼l½ euksoSKkfud ykHk 

¼n½ mi;qZDr lHkh 
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Main advantage of nuclear family is : 

(a) Physical advantage 

(b) Economical advantage 

(c) Psychological advantage 

(d) All of the above 

7- ,dkdh ifjokj dk eq[; nks”k gS % 

¼v½ vf/kd Je 

¼c½ ,dkdhiu 

¼l½ vkfFkZd gkfu 

¼n½ mi;qZDr lHkh 

Main disadvantage of nuclear family is : 

(a) Excess labour 

(b) Loneliness 

(c) Economical loss 

(d) All of the above 

8- la;qDr ifjokj dk eq[; xq.k 
-----------------------------

 gSA 

Main trait of joint family is ................... . 

9- fookg ,d 
----------------------------

 gSA 

Marriage as an .................. . 
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10- ‘kgjh ifjokj fuokl djrk gS % 

¼v½ xk¡oksa esa 

¼c½ dLcksa esa 

¼l½ ‘kgjksa esa 

¼n½ mi;qZDr esa ls dksbZ ugha 

Urban family staying : 

(a) In village 

(b) In blocks 

(c) In cities 

(d) None of the above 

11- ckykRdkj gS % 

¼v½ okfpd fgalk 

¼c½ ikfjokfjd fgalk 

¼l½ ;kSu mRihM+u 

¼n½ mi;qZDr lHkh 

Rape is a : 

(a) Verbal violence 

(b) Family violence 

(c) Sexual abuse 

(d) All of the above 
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12- O;fDrRo fodkl esa ck/kk eq[; nks”k gS % 

¼v½ la;qDr ifjokj dk 

¼c½ ,dkdh ifjokj dk 

¼l½ foLrkfjr ifjokj dk 

¼n½ mi;qZDr lHkh 

The hurdle of personality development in main disadvantage 

of : 

(a) Joint family 

(b) Nuclear family 

(c) Expanded family 

(d) All of the above 

13- ckyd ds ikyu&iks”k.k esa 
---------------------------

 dh Hkwfedk egRoiw.kZ gSA 

In child rearing practices the role of .................. is important. 

14- f’k{kk vkSj ifjokj dk vFkZ gS % 

¼v½ ‘kkjhfjd LokLF; 

¼c½ /keZ vkSj ifjokj 

¼l½ ifjokj dk f’kf{kr gksuk 

¼n½ mi;qZDr lHkh 

Meaning of education and family is : 

(a) Physical health 

(b) Religion and family 

(c) Educated family 

(d) All of the above 
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15- /keZ vkSj ifjokj dk vFkZ gS % 

¼v½ /kkfeZd dk;ks± dks egRo nsuk 

¼c½ LokLF; vkSj ifjokj 

¼l½ dk;Z vkSj ifjokj 

¼n½ mi;qZDr esa ls dksbZ ugha 

Meaning of religion and family is : 

(a) Give importance of religions work 

(b) Health and family 

(c) Work and family 

(d) None of the above 

16- ngst ysuk 
------------------------

 gSA 

Dowry is a .............. . 

17- rykd dk eq[; dkj.k gS % 

¼v½ ngst 

¼c½ LokLF; 

¼l½ f’k{kk 

¼n½ mi;qZDr lHkh 

Main reason of divorce is : 

(a) Dowry 

(b) Health 

(c) Education 

(d) All of the above 
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18- lkeatL; dk vHkko 
---------------------------

 dk dkj.k gSA 

Lack of adjustment is causes of .................. . 

19- iqufoZokg 
------------------------ 

gSA 

¼v½ lgh 

¼c½ xyr 

Remarriage is ............... . 

(a) Right 

(b) Wrong 

20- cfgeqZ[kh izdkj gS % 

¼v½ ‘kkjhfjd fodkl dk 

¼c½ ekufld fodkl dk 

¼l½ laosxkRed fodkl dk 

¼n½ O;fDrRo fodkl dk 

Extrovert is a type of : 

(a) Physical development 

(b) Mental development 

(c) Emotional development 

(d) Personality development 
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 [k.M&c izR;sd 2 

(Section—B) 

vfr y?kq mŸkjh; iz’u 

(Very Short Answer Type Questions) 

uksV % lHkh iz’uksa ds mŸkj 2&3 okD;ksa esa nhft,A 

 Attempt all questions in 2-3 sentences. 

1- la;qDr ifjokj dk vFkZ le>kb;sA 

Explain the meaning of joint family. 

2- O;fDrRo dh ifjHkk”kk fyf[k,A 

Write the definition of personality. 

3- ,dy ifjokj ds dksbZ nks xq.k fyf[k,A 

Write the any two merits of single family. 

4- la;qDr ifjokj ds nks nks”k fyf[k,A 

Write the two demerits of joint family. 

5- okfpd fgalk dk vFkZ le>kb;sA 

Explain the meaning of verbal violence. 

6- f’k{kk vkSj ifjokj dk vFkZ le>kb;sA 

Explain the meaning of education and family. 

7- xzkeh.k ifjokj dgk¡ fuokl djrs gSa \ 

Where rural families staying on ? 
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8- ifjokj esa ifjorZu ds nks dkj.k fyf[k;sA 

Write the two causes of changes in family. 

 [k.M&l izR;sd 3 

(Section—C) 

y?kq mŸkjh; iz’u 

(Short Answer Type Questions) 

uksV % lHkh iz’uksa ds mŸkj 75 ‘kCnksa esa nhft,A 

 Attempt all questions in 75 words. 

1- ifjokj ds dk;ks± dks le>kb;sA 

Explain the functions of family. 

2- la;qDr ifjokj dks le>kb;sA 

Explain the joint family. 

3- ,dy vfHkHkkod ls vki D;k le>rs gSa \ 

What do you understand by single parent ? 

4- ‘kgjh ifjokj dh fo’ks”krkvksa ij izdk’k Mkfy,A 

Highlight the characteristics of urban family. 

5- LokLF; vkSj ifjokj dks le>kb;sA 

Explain the health and family. 

6- ikfjokfjd fgalk dks le>kb;sA 

Explain the family violence. 
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7- ikfjokfjd fo?kVu ds dkj.k fyf[k,A 

Write the causes of family disorganization. 

8- rykd ds dkj.kksa dks le>kb;sA 

Explain the causes of divorce. 

 [k.M&n izR;sd 5 

(Section—D) 

nh?kZ mŸkjh; iz’u 

(Long Answer Type Questions) 

uksV % fdUgha pkj iz’uksa ds mŸkj 150 ‘kCnksa esa nhft,A 

 Attempt any four questions in 150 words. 

1- ßifjokj lkekftd ra= dk ?kVd gSAÞ foLrkj ls le>kb;sA 

“Family is a component of social system.” Explain in detail. 

2- ifjokj ds lkoZHkkSfed dk;ks± dks le>kb;sA 

Explain the universal functions of family. 

3- ,dkdh ifjokj dh foLrkj ls O;k[;k dhft,A 

Explain the nuclear family in detail. 

4- rykd ds dkj.k ,oa izdkjksa dks foLrkfjr dhft,A 

Explain the causes and types of divorce. 

5- ikfjokfjd ruko ij ys[k fyf[k,A 

Write an essay on family tension. 
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